OiLL

www.gillathletics.com
800-637-3090

Copright (C) 2018 by Gill Athletics.

All rights reserved.

SHOT PUT RETURN
ASSEMBLY INSTRUCTIONS

# Part # Description Qty.
1 | 871025 SHOT PUT RETURN LEG 2
2 | 871022 SHOT PUT RETURN LEG HDWE 2
3 | 871015 SHOT PUT RETURN RAIL 1
4 | 871045 SHOT PUT RETURN STOP 1
5 | 871044 SHOT PUT RETURN STOP HDWE 1
# Part # Description Qty.
1 | 871025 SHOT PUT RETURN LEG
2 | 871022 SHOT PUT RETURN LEG HDWE
3 | 871015 SHOT PUT RETURN RAIL
**871 - 10' ADD ON KIT SOLD SEPARATELY
**87103CXXSP - CUSTOM BANNER SOLD SEPARATELY
A WARNING: This product can expose you to Titanium Dioxide,
which is known to the State of California to cause cancer. 12{,%'68/_?_2%3

For more information go to www.p65warnings.ca.gov.

Page 1 of 6



OiLL

www.gillathletics.com
800-637-3090

# Part # Description QTY.
1 871025 LEG WELDMENT 1
2 CHNLO00112 INNER LEG CHANNEL 1
3 HDWES530350E0 3/8" SQUARE NUT 1
4 M2752 KNOB; 3/8"-16 THREADED STUD 1
5 FEETO00050 RUBBER FOOT 4
6 M1235 3/8"-16 THIN NYLOCK NUT 4
7 HDWEO050040E0 3/8" FLATWASHER 4
8 HDWEO011240E0 3/8"-16 X 1" HEX BOLT 4

i &

HDWES530350E0

/

[ [

CHNLO00112

L
/
-

/

DETAIL B

Copright (C) 2018 by Gill Athletics.
All rights reserved.

SHOT PUT RETURN
ASSEMBLY INSTRUCTIONS

HDWEO011240E0
H DWE05004OEO\ﬁ\
>
I
l [ ]
FEET00050

M1235

s

DETAIL A

871025

12/26/2018
INST872
Page 2 of 6



SHOT PUT RETURN
ASSEMBLY INSTRUCTIONS

OiLL

www.gillathletics.com
800-637-3090

SHOT PUT STOP MUST BE MOUNTED ON THE

END OF THE RAIL WITH TWO FLATS INSTEAD
OF THE TUBE. ATTACH THE STOP BEFORE
SECURING THE RAIL TO THE LEGS.

&

I
HDWEO30800E0/\ . N

HDWEO050030E0 N

87104

|

MISC00328

M2239E

871015

ASSEMBLED IN PREVIOUS STEP

Copright 2018 by Gill Athletics. 12/26/2018
p. ) @ g INST872
All rights reserved. Page 3 of 6



SHOT PUT RETURN
ASSEMBLY INSTRUCTIONS

OiLL

www.gillathletics.com
800-637-3090

ONE END OF THE RAIL HAS A RECTANGULAR TUBE WELDED ON (SHOWN
ABOVE). THIS TUBE WILL SLIDE INTO THE OPENING OF THE UNISTRUT.

O O
F,I ) j\{/
aEin:)

“—ONE END OF THE RAIL HAS TWO FLATS WELDED ON (SHOWN
ABOVE). THESE FLATS WILL STRADDLE THE UNISTRUT.

D

Copright 2018 by Gill Athletics. 12/26/2018
p. X @ y INST872
All rights reserved. Page 4 of 6



SHOT PUT RETURN
ASSEMBLY INSTRUCTIONS

OiLL

www.gillathletics.com
800-637-3090

MISC00328

WHERE TWO RAILS MEET, THEY WILL SHARE A MOUNTING POINT. THIS AIDS
IN KEEPING TRANSITIONS SMOOTH FROM RAIL TO RAIL

Copright 2018 by Gill Athletics. — 12/26/2018
P @ g INST872

All rights reserved. Page 5 of 6




SHOT PUT RETURN
ASSEMBLY INSTRUCTIONS

OiLL

www.gillathletics.com
800-637-3090

Y
Y \ *+87103CXXSP BANNER IS SOLD SEPARATELY**

/;

2,
=

C

(@@

S—

/

TUBRO00998

M1231

Copright 2018 by Gill Athletics. 12/26/2018
P @ g INST872

All rights reserved. Page 6 of 6



